This lathe tool table was developed by Past

President Dave Yerian after building several
similar tables for a friend that showed rabbits
in competition.

These drawings are based on a full size table
constructed of hard maple and finished with
water-based polyurethane.

Thanks to Dave Yerian for the design and our

current Program Chair Tom Whalley for these

Wood Turning Tool Table

February 14, 2018




Top Assembly

Side - 3/4 x 1-3/4 x 23"
(2 req'd)

End -3/4x1-3/4x 17"
(2 reqg'd)

Table top
1/4% 16 x 22"

1/4" dado 1,/2" down and 3,/8" deep
Cut dado in all 4 top pieces
6+ 2" dia. holes

Tool holder
1/4x 3 x 16" plywood

#8 x 3/4" wood screw
\/_ (3 req'd)



Leg Assembly

Leg - 3/4x 1-3/4 x 39"

(4 req'd)

Cut legs at 60° on ends as shown

(Note: cuts will be parallel with each other)

#8 x 2" wood screw
(16 req'd)

5/16" dia hole in 4 legs centered
and 17" from either end

5/16" dia. fender washer
(4 reqg'd)
Place 1 between legs and
(7] B ; the other between the leg and lock nut
5/16 x 2 1/2" Carriage bolt
(2 req'd)

5,/16-18 lock nut
(2 req'd)

Brace - 3/4x 1-3/4x 17 1/2" long

(4 req'd)

Cut braces at 60° on ends as shown.

(Note: cuts will be parallel with each other)
Drill for #8 screws.



